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Her parents had a Bible in their cabin, but she didn’t read it.
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Roy published 50 papers during his 30-year career.
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If you were at a social gathering in a large building and you overheard someone say that
“the roof is on fire,” what would be your reaction? Until you knew more information, your
first inclination might be toward safety and survival. But if you were to find out that this
particular person was talking about a song called “The Roof Is on Fire,” your feelings of
threat and danger would be diminished. So once the additional facts are understood — that
the person was referring to a song and not a real fire — the context is better understood
and you are in a better position to judge and react. All too often people react far too
quickly and emotionally over information without establishing context. It is so important for

us to identify context related to information because if we fail to do so, we may judge and

react too quickly.
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<If you were at a social gathering in a large building and you overheard someone

say that “the roof is on fire,” what would be your reaction?>

Until you knew more information, your first inclination might be toward safety and

survival.

But if you were to find out that this particular person was talking about a song

called “The Roof Is on Fire,” your feelings of threat and danger would be

diminished. So once the additional facts are understood — that the person was

referring to a song and not a real fire — the context is better understood and you

are in a better position to judge and react.

All too often people react far too quickly and emotionally over information

without establishing context.

<[t is so important for us to identify context related to information because if we
fail to do so, we may judge and react too quickly.>
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